
SAP ABAP table TXI_VIAK07 {Calculation unit option rate}

TXI_VIAK07

MANDT [CLNT (3)]

BUKRS [CHAR (4)]

SWENR [CHAR (8)]

SNKSL [CHAR (4)]

SEMPSL [CHAR (5)]

T000

MANDT [CLNT (3)]
 TXI_VIAK07-MANDT = T000-MANDT 

0..N

1

T001

MANDT [CLNT (3)]

BUKRS [CHAR (4)]
 TXI_VIAK07-BUKRS = T001-BUKRS 0..N

1
TIV05

MANDT [CLNT (3)]

SNKSL [CHAR (4)]

 TXI_VIAK07-SNKSL = TIV05-SNKSL 
0..N1

VIAK03

MANDT [CLNT (3)]

BUKRS [CHAR (4)]

SWENR [CHAR (8)]

SNKSL [CHAR (4)]

SEMPSL [CHAR (5)]

 TXI_VIAK07-SEMPSL = VIAK03-SEMPSL 

0..N

1

VIOB01

MANDT [CLNT (3)]

BUKRS [CHAR (4)]

SWENR [CHAR (8)]

 TXI_VIAK07-SWENR = VIOB01-SWENR 

0..N

1


